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Date Time _F8:2 Below F8:2 Below S1 52 (Fanl iFan2 JFan3 Fand _Readings fr Readings fr Readings ft dings fr Readings fi Readings fi Readings fi Readings fi dings fr Readings fr Readings fi Readings fr Readings fr Readings fi. Readings fr. gs fr dings ft Readings fr Readings fi Readings fr Readings fr Readings fi Readings fr Readings fi FAN FAULT. Below Grot BG Sensor _INSUFFICIENT PUMP VACCUM
26/03/2012°  00:00:00 02 0. Methane Carbon Dia Stop Stop Run Stop 018 02’ 015 018 0.18 0.18 018’ 0.5, 0.18' 0.18: 018 0.18; 01 6 003 003  -003 0.13 [ 127:  -003: 003  -0.03 0.0ff ‘Off Off _Off
26/03/2012° 01:00:00 0.2 0__ Methane Carbon Dio Stop Stop Stop Stop 0.18 018’ 018 0.8 0.18 015 018 0.18 0.15, 0.18; 018 015 015 -003. 003  -0.03 -0.03 0.15] 0 0.96 -0.03 -0.03°  -0.03  -0.03 Off _IOff off Off
26/09/2012  02:00:00 0.2 0_ Methane Carbon Dio Stop Stop Run .Stop 0.18 0.18’ 018 0.18] 0.18 015 018 0.18 0.18 015! 0.18! 018 003 -003 003  -0.03 015 -0.03! 155, -0.03 -0.03 -0.03 o:0ff _Off Off “Off
26/09/2012_ 03:00:00 0.2 0_ Methane Carbon Dia Stop Stop Stop ‘Stop 018 018 018 0.18| 0.18 0.18 0.18. 0.18_ 0.8 0.18; 0.18: 0,18 0 -003 -0.03, 01 003 0.76 -0.03 -0.03 -0.03 -0.03. Off “off ‘Off (Off
26/09/2012  04:00:00 0.2 0 Methane Carbon Dic Stop Stop Stop Stop 018 018’ o1g 0.23] 0.2 0.18 018 0.18. 0.18 0.18 0.15 003 003 -0.03 01 ol 0.43 -0.03 -0.03 -0.03 0 off off ‘off [off
26/09/2012  05:00:00 0.2 0__ Methane Carbon Dio Stop Stop Stop Stop 0.18 018 018’ 018, 0.15 02 018 0.8 0.18: 0.18 0.18. -0.03.  -0.03 .03, -0.03: 013 o 099 003 -0.03 -0.03 0:0ff “off ‘Off Off
26/03/2012  06:00:00 0.2 0 Methane Carbon Dio Stop Stop Stop Stop .02 0.18° 018 0.18; 0.18 018 02 0.8 0.18: 0.15° 0.18 003 -003  -0.03 0,03 0.13 0 0.36 -0.03 -0.03 -0.03 0i0ff | Off ‘off off
26/03/2012  07:00:00, 02 0. Methane Carbon Dio Stop - Stop _Stop :Stop 0.18 0.18 015 0.18 0.18 0.18 0.18 0.8 0.18 02, 018 -0.03 -0.03 -0.03 -0.03: 0.15 0 091 -0.03 -0.03 -0.03 0,Off “Off (Off off
26/09/2012  08:00:00 02 0. Methan¢ Carbon Dio Stop Stop Stop Stop 0.18 0.18' 018 018 0.18 018 0.18 0.18 0.18 0.18 0.2 0 -0.03 -0.03 -0.03° 0.2 0 0.81 -0.03 -0.03 -0.03 0,0ff | Off  Off off
26/09/2012__ 09:00:00° 02 0. Methan Carbon Dio Stop ‘Stop _Stop :Stop 02 0.18, 018 0.18 0.18 0.18 0.18 0.18 0.18 0.18 0.18 -0.03 -0.03 -0.03 -0.03 0.18 -0.03 0.81 -0.03 -0.03 o 0. Off Off -Off off
10:00:00; 02; 0! Methane Carbon Dio Stop Stop  Stop  -Stop . 0.18 0.15; 0.18. 0.2 0.18 018 0.18 0.18 0.2 0.18 0.18: -0.03} 0 003 -003 0.18 0 076 -0.03 -0.03 -0.03, 0 Off ‘Off Off off
6/09/2012 11:00:00. 02 0. Methane Carbon Dio Stop Stop Stop .Stop ) 0.15 0.2 0.18' 0.18 0.18 018 0,18 0.18 0.18 0.18; -0.03 -0.03 003 -003 0.2 0 071 -0.03 -0.03 -0.03 0,0ff Kelii Off off
26/09/2012 12:00:00 02, 0. MethaneCarbon Dic Stop -Stop Stop .Stop } 0.18 0.18 0.2 0.18 0.2 0.18 0,18 0.18 0.18 0.18 0 -0.03 -0.03 0 023 0 063 -0.03 0 -0.03 0 Off | Off off off
26/09/2012° 13:00:00, 02, 0. Methane Carbon Dio Stop ‘Stop Stop “Stop ) 0.18 018 0.18 0.2 018 0.2 0.18 0.2 0.18 0.18; -0.03 -0.03 -0.03 -0.03 0.2 -0.03 071° 003 -0.03 -0.03 0.03 Off ~off off off
26/09/2012  14:00:00 01 0. _Methane Carbon Dig Stop :Stop Stop Stop 018 018 0.15 0.18 018 0.2 0,18 0.18 0.18 0.18 0 -0.03 -0.03 -0.03 0.18 0 061 -0.03  -003 -0.03 -0.03 Off “off Off off
_26/08/2012: 15:00:00 02 0. Methane Carbon Dig Stop IStop Stap Stop 018 0.18° 0.2 0.18 0.18 0.2 0.18 018 0.18 0.18 o 003 -0.03 -0.03 0.23 0 063 -0.03 0 o 0.0ff ‘off off Off
26/09/2012. 16:00:00 02 0. __Methane Carbon Dig Stop ‘Stop Stop ‘Stop 0.2 0.2 0.18 0.2 0.2 0.2 0.18 0.2 0.2 0.2 o 003 -0.03 -0.03 0.18 0 074, -0.03.  -0.03 -0.03 off Off Off
26/09/2012 17:00:00 0.2 0. _Methane Carbon Dio Stop Stop Stop :Stop 0.18 0.18 0.18 0.2 018 0.18 0.2 0.2 0.18 0.18] -0.03 0.03 -0.03 0 0.18 0 071, 003 -003 -0.03 off Off off
26/03/2012. 18:00:00 0.2 0 Methane Carbon Dio Stop Stop Stop -Stop 0.2 0.2 0.18 0.2 0.2 0.18 0.18 0.18 0.2 0.2 -0.03 -0.03 -0.03 -0.03 0.15 -0.03 066 -0.03:  -0.03 -0.03 off off off
26/09/2012°  19:00:00 02 0. Methane Carbon Dia Stop Stop Stop Stop 018 0.18 0.2 0.2 0.18 0.18 0.2 0.2 0.2 0.2 -0.03 -0.03 -0.03 -0.03 0.1 -0.03 056 -0.03 ~ -003  -003 - Off _Off (Off
26/09/2012 20:00:00 0.2 0 Methane Carbon Dic Stop Stop Stop “Stop 0.18 0.2 0.2 0.2 0.23 0.18 02 0.2 0.03, 003 -0.03 -0.03 0.15 -0.03 056°  -0.03  -003 003 off Off Off
26/09/2012 21:00:00. 0.2 0. _Methane Carbon Dia Stop Stop Stop Stop 0.18 0.23 0.25 0.2 0.2 0.2 0.2 0.2 0 0 0.03 -0.03 0.2 -0.03! 0.56 0 0 -003 __Off off Off
26/09/2012 22:00:00, 02 0: _Methane Carbon Dio Stop Stop Stop Stop 0.18: 0.2 0.2 0.18 0.18 0.2 0.18 0.18 0 -0.03 0.03 -0.03 0.2 o 056 -0.03;  -0.03 o _off Off ‘Off
26/09/2012 23:00:00 02 0. Methane Carbon Dio Stop Stop Stop Stop 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0 -0.03 0.03 -0.03 0.18 0 053 -0.03 -0.03 0 _Off “off {Off
27/09/2012 . 00:00:00 02 0. Methane Carbon Dig Stop Stop Stop Stop 0.2 0.2 0.2 0.23 0.23 0.2 0.2 0.2 0 -0.03 -0.03 -0.03 0.2 -0.03 051 -0.03 -0.03 0. __Off :Off {Off
27/09/2012  01:00:00 02 0. Methane Carbon Dig Stop Stop Stop Stop 0.2 0.23 0.23 0.2 0.2 0.2 0.2 0 -0.03 -0.03 -0.03 0.25 -0.03 053 0 -0.03 -0.03 off JOff off
27/09/2012 02:00:00 02 0, Methane Carbon Dic Stop Stop 'stop Stop 0.23 0,23 0.2 0.2 0.2 0.2 0.2 0 0 -0.03 -0.03 0.2 -0.03 056 003 -003 0 off off Off
| 27/09/2012. 03:00:00, 0.2 0. Methane Carbon Dig Stop Stop |Stop Stop 0.2 0.2 0.18 0.2 0.2 0.18 0.2 0 -0.03 -0.03 -0.03 0.28 0 0.48 0 0 0 Off off off
27/09/2012 0.2: 0. Methane Carbon Dig Stop Stop |Stop Stop 0.2 0.2 0.23 0.2 0.2 0.2 0.2 0 0.03 -0.03 -0.03 0.28 0 0.48 0 0 -0.03 Off off off
27/09/2012 0.2 0. Methane Carbon Dic Stop Stop Stop Stop 0.23 0.2 023 6.2 0.23 0.2 0.2 0.03 -0.03 -0.03 -0.03 0.2 0 0.48 0 -0.03 -0.03 off off Off
.27/09/2012 0.2 0. Methane Carbon Dio Stop Stop Stop Stop 0.23 0.2 023 0.23 0.2 0.23 0.2 0.03 o 003 -0.03 025! -0.03 0.48 0 -0.03 0 off Off off
27/09/2012: 0.2 0. Methane Carbon Dig Stop Stop Stop Stop 0.2 0.23 0.2 0.2 0.2 0.2 0.2 0 -0.03: 003 -0.03 0.25 0 051 o -0.03 0 Off off off
27/09/2012" 0.2 0 Methan Carbon Dic Stop ‘Stop Stop Stop 0.2 0.23 0.23 0.23. 02 0.2 0.2 0 -0.03° 003 -0.03 0.2 o 0.43 o o 0 off off off
27/09/2012° 0.2 0! _Methane Carbon Dic Stop {Stop Stop Stop 02 0.2 0.2 0.2 0.2 0.2 0.2 [ 0 o -003 0.25 -0.03 0.41 4 -0.03 0 off Off off
27/09/2012° 0.2 0. _Methane Carbon Dio Stop :Stop Stop Stop 0.18 0.23 0.2 0.2 02, 02 0.23 0 -0.03 -0.03 -0.03 0.23 -0.03 0.3 0 -0.03 0 Off off off
27/09/2012 0.2 0.1, _Methane Carbon Dic Stop Stop Stop Stop 0.2 0.2 0.2 0.18 0.18] 02. 0.2 0.03 -0.03 -0.03. 0.08 0.38 -0.03 03 0 -0.03 0 off _Off off
27/09/2012 0.2 0: _Methane Carbon Dio Stop Stop Stop Stop 0.23 02, 02 0,25 023 023 0.2 0.05 -0.03 -0.03 0.08 051 -0.03 0.23; 4 -0.03 0.03 off off (Off
27/09/2012 0.2 0. _Methane Carbon Dio Stop Stop Stop Stop 0.23 . 023 0.2 _ 023 023 0.23; 0.03 -0.03 0 0.05 0.66 4 0.15° o 003 0.03 off  oOff (Off
27/09/2012 0.2 0.1, _Methane Carbon Dio Stop Stop Stop Stop 0.23 0.23: 023 0.23 023 023 0.2 0.05 -0.03 -0.03 0.03 0.76 0 0.1 o 003 0.03 . off off (Off
27/09/2012 0.3 0.1] _Methane Carbon Dia Stop Stop Stop Stop 0.23 0.23 0.23 0.28 0.23 023 0.23 0.05 -0.03 [ 0.05 0.76 -0.03; 015’ o o 0.03 0.03,0ff Off Off Off
27/09/2012 0.2 0.1, Methane Carbon Dio Stop Stop Stop Stop 0.25 0.23 0.23 0.2 02, 0.23 0.23 0.05 [ -0.03 0.05 0.71 -0.03° 0.15, 0,03’ 0 o 0.03 Off JOff  Off ‘off
27/09/2012 0.2 0.1’ Methane Carbon Dio Stop Stop Stop Stop 0.23 0.23 023 023! 02, 0.23 0.23 0.03 -0.03 -0.03 0.05 0.74 -0.03: 0.18: 0.05 0 o 0 Off off off [off
27/09/2012 0.2 0.1; Methane Carbon Dio Stop Stap Stop ‘Stop 0.23 0.23 0.23 023 0.23 0.23; 023 0.05 -0.03 -0.03 0.08 0.61 0,03 0.18 0.03;  -0.03 0, 0 Off ff “off (Off
27/09/2012 0.2 0 Methane Carbon Dio Stop Stop Stop Stop 02, 0.23 0.2 0.23 023 0.23 023 0.03 -0.03 -0.03 0.05 0.63 o 0.25 005 -0.03 0.03; 0Off -Off off
27/08/2012 0.2 0°_Methane Carbon Dio Stop Stop Stop Stop 0.23 0.23 023’ 0.23 023 0.23 023 0.03 -0.03 -0.03 a 053 0! 0.2 003 003 o 003 Off :Off off
27/09/2012 0.2 0 Methang Carbon Do Stop Stop Stop Stop 023 0.23 0.23 0.25 0.2 0.23' 0.25 0.03. -0.03 -0.03 0 0.48 o 0.25 005, -0.03 o 0 Off Off off
27/09/2012. 02’ 0. Methane Carbon Dio Stop Stop Stop Stop 0.23 0.23 023 0.25 0.23 0.23 0.23 [ 0 0 -0.03 0.33 -0.03 0.33 0.08. 0 0. 0 Off Off ‘off Off
27 012" 0.2 0.1 Methane Carbon Dic Stop Stop Stop Stop 0.2 0.25 023 025 0.23 0.23 023 c 0 0 0.03 0.3 -0.03 0.36 005 -0.03 0.03 0 Off off £ Off off
28/09/2012 02 0. Methane Carbon Dio Stop Stop Stop Stop 023 0.23 0.25 025 023 0.23 0.23 [ -0.03 0 0 0.28 -0.03, 0.38 0.1 0 0.03 0 Off Off off off
28/09/2012 02 0.1 Methane Carbon Dig Stop Stop Stop Stop 0.25 0.2 0.23 023 0.25 0.23 0.23 [ -0.03 0 0.05 0.33 0 0.38 0.05 0 0.03 0:Off Off Off off
28/09/2012: 02’ 0.1, Methane Carbon Dia Stop Stop Stop Stop 023 0.25 0.25° 0.23 0.23_ 0.23° 0.23 0.03 -0.03 -0.03 0.08 0.66 -0.03 0.43 0.05! 0 [ 0.03 Off _Off off off
28/09/2012. 02’ 0.1, Methane Carbon Dig Stop Stop Stop Stop 023 0.25 0.23 0.2 0.25 0.23 0.25 0.03 -0.03 0 0.05 0.76 -0.03 0.25 0.08 0 o ol off off off off
28/09/2012° 03 0.1, Methan¢ Carbon Dia Stop Stop Stop Stop 0.25 0.25 0.25 0.25 025 0.25 023 0.03 0 -0.03 0.08 0.69 -0.03 0.28 0.08 0 0 0 Off (off off off
.28/09/2012 02 0.1 Methane Carbon Dic Stop Stop Stop Stop 0.23° 0.23 0.25 0.25 0.23; 0.23 0.23 0.05 0 0 0 076  -0.03 0.2 0.13 -0.03 0 0.03 Off -Off off off
28/09/2012 02 0.1, Methan¢ Carbon Dia Stap Stop Stop Stop 0.25 0.25 0.25 0.23 023, 0.25 0.25 0.03 0 0 0.03 066 -0.03 0.33 0.08 o 0 0 Off (off off off
28/09/2012 03! 0.1 Methane Carbon Dio Stap Stop Stop Stop 0.23 0.23 0.25 0.25° 025 0.23 0.23 0.03 0 0 0.03 069 -0.03 0.33 0.1 0 0 0;0ff ‘off off off
28/09/2012° 0.2 0.1, Methane Carbon Dic Stop Stop Stop Stop 0.23 0.25 0.25 0.25 023 0.5, 0.25 0.03 -0.03 0 0.03 066 -0.03 0.36 0.08 -0.03 0 0 Off off off off
28/09/2012 0.2 0.1, Methane Carbon Dic Stop Stop Stop Stop 0.23 0.23 0.23 0.25. 0.23 0.25 0.25 0.03 -0.03 0 0.03 069 -0.03 0.23 01 -0.03 0 -0.03 Off [off off Off
28/09/2012 0.3 0.1 Methane Carbon Dio Stop Stop Stop Stop 0.25 0.25 0.25 0.25, 0.25; 0.25 0.23 0.03 0 -0.03 0.03 063 -0.03 0.18 0.08 o 0 -0.03 Off | Off off off
28/09/2012 0.2 0.1, Methané Carbon Dio Stop Stop :Stop Stop 0.23 0.23 0.25 0.25 023 0.25 0.23 0.05 -0.03 0.03 o, 096  -0.03 0.13 0.1 -0.03 0 0 Off off off off
28/09/2012° 0.2 0.1, _Methane Carbon Dio Stop Run Stop Stop 0.23; 0.23 0.25 025 025 0.25 0,28 0.03 -0.03 0.03 o 1.07 -0.03 0.1 013 -0.03 0 0 Off off off off
28/09/2012 03 0.1 Methane Carbon Dio Stop Stop _Stop Stop 0.23 0.25 0.25 0.25: 023} 0.25 0.25 0 0 0.05 0.03 0.96 -0.03 0.05 0.13 -0.03 0 0.0ff off Off off
28/09/2012" 0.2 0.1, _Methane Carbon Dio Stop Run Stop Stop 0.25 0.25 0.2 0.25° 0.25; 0.25 0.25 0.08 0 008 -003 0.53 -0.03 0.05 0.2 -0.03 0 -0.03.Off off off |Off
28/09/2012 03; 0.1 Methane Carbon Dio Stop _Bun “Stop Stop 0.25° 0.25 0.23 0.25° 0.25: 0.25 0.28 0.05 0 0.05 0 14 -0.03 0.03 0.13 -0.03 -0.03 0 Off off off ‘off
28/09/2012 03 0.1:_Methane Carbon Dio Stop Run Stop |Stop 0.25 0.25 0.25 025 0.28 0.25 0.25 0.08 -0.03 0.05 0 1.37 -0.03 0.05 0.2 -0.03 g -0.03 Off _Off off ‘off
28/09/2012 03 0.1, Methane Carbon Dio Stop Run ‘Stop Stop 025 0.25 0.25 025 0.28: 0.25 0.25 0.08 0 0.08 0 1.27 -0.03 0.05 0.15 0 o 0 off off off .Off
28/09/2012 0.3 0.1. Methane Carbon Dio Stop :Stop Stop _Stop 025 0.23 0.25 025 0.25. 0.25 0.25 0.05 4 0.08 o 0.53 -0.03 0.08 0.05 0 g 0_Off off off off
28/09/2012, 03 0.1__ Methane Carbon Dig Stop |Run ‘Stop Stop 0.25 0.25 0.25 025 0.25 0.28 0.25 0.05 a 0.05 0 124 0 0.08 0.03 0 4 0:0ff Off off _Off
28/09/2012° 03 0.1 Methane Carbon Dig Stop |Stop 'Stop Stop 0.25 0.25 0.25 025 025 0.25 0.25 0.03 a 0.08 0,03 058, 0 0.1 0.05 0 0 0.03; Off off off Off
28/09/2012° 03 0.1 Methane Carbon Dio Stop |Stop 'Stop _Stop 0.28 0.25 0.25 0.25: 025 0.25 0.25 0.03 0 0.05 o 0.91 0 0.13 0.15 o] 0 oioff off Off Off
28/09/2012 0.2 0.1 Methane Carbon Dic Stop |Stop ‘Stop Stop 0.25 0.23 0.25 025 0.28. 0.25 0.18 0.03 0 0.03 0.03; 0.8% 0 0.13 0.18; ] 0.03 ojoff off off Off
28/09/2012 0.3 0.1 Methane Carbon Dig Stop ‘Run Stop Stop 0.25 0.25° 0.25. 025 0.23 0.25 0.25 0.03 0 0.03 0,03 1.09 0 0.15 0.18 [ 0 oloff off off Off
29/09/2012 03 0.1 _Methane Carbon Dic Stop _Stop IStop Stop 0.28 0.25. 0.25: 03 0.28' 0.25 0.25 0.03 0.03’ 0.03 o 0.43 0 0.13 0.18 o 0.03 0i0ff off |off off
29/09/2012 03 0.1__ Methane Carbon Dig Stop ‘Stop Stop Stop 0.25 0.23. 025 0.25: 0.28 0.28 0.25 0.03 0 0.05 0,03 0.96 -0.03 013 0.2 o 0.03 0.0ff off Oft Off
29/09/2012 0.3 0.1, _Methane Carbon Dic Stop Run .Stop Stop 0.25 03! 0.25; 03 0.25. 0.25 0.25° 0.05 0 0.05 0 053 0 0.08 018 -0.03 0 0:0ff off |off Off
29/09/2012 03 0.1 _Methane Carbon DigStop __ Run Stop Stop 0.25 0.25 0.25] 0.28! 0.25! 0.28 0.28. 0.03 0 0.08: 0.03° 122 0 0.05 0.28 [} 0 0 0ff off ‘Off Off
29/09/2012 0.2 0.1 Methane Carbon Dic Stop Stop _Stop Stop 0.25 0.28' 0.25 0.28, 0.28 0.28 0.25: 0.05 0.03 0.05: 0 0.81 -0.03 0.08 0.25 0 0.03 0 Off off (Off off
| 29/09/2012 03 0.1, _Methane Carbon DioStop _ Run Stop Stop 0.23 025 0.25 0.28 0.25; 0.25 0.28 0.05 0 013 0 0.48 -0.03 0.05 0,25 o o 0.0ff Off .Off Ooff
29/09/2012 03 0.1 _Methane Carbon Dig Stop Stop 1Stop Stop 0.25 03, 0.23/ 0.25! 0.28 0.28 0.28] 0.05! 0.03 0.05 0.03 0.89 -0.03 01 0,25 0 0 0 Off Off Jolid off
29/09/2012 03 0.1 _Methane Carbon Dic Stop ‘Stop Stop Stop 0.28 0.28] 028 0.25' 0.23: 0.28 0.28 0.05] 0 0.08 o 038 -0.03 0.05 0.28 0 o 0 Off off off off
29/09/2012 0.3 0.1] Methane Carbon Dio Stop Stop Stop Stop 0.25 0.28 0.28: 03, 028 0.28 025 0.05 0.03 0.08 [ 0.91 -0.03 0.05 0.25 0. o 0 Off off Off off
29/09/2012 03 0.1] Methane Carbon DiaStop _Stop _Stop Stop 0.28 025 0.25 028 0.25 0.28 0.28 0.05 0.03 0.05 4 0.84 o 0.05; 0.25 o o 0 off Off Off off
29/09/2012 0.3 0.1/ Methane Carbon Dig Stop Run Stop Stop 0.25 028 0.28 03 0.25 0.28 028 005 o 0.08 o 142 a 0 0.25 0 o 0 off Off off off
25/09/2012 03 0.1] Metha Dig Stop Run Stop Stop 0.25 0.28 0.25 028 0.25 0.28 0.28 0.05 | o 0.18 o 178 -0.03! o 0.23; 0 0.03: 0.0ff Off off off
29/03/2012° 03, 0.1, Methané Carbon Dic Stop ‘Run .Stop Stop L 025 03 0.25 0.28 0.3 0.28: 0.28; 0.05 0.03 0.15 o 15 0,03/ 0,03 0.05; 0 0.03; 0:Off off Off off
29/09/2¢ 03, 0.2 Methane Carbon Dia Stop ‘Run Stop Stop 025 0.28 0.28 0.28 0.25 0.25 0.28 0,05 0.03 0.18 [ 19 -0.03; of 0 o 0 0:0ff _Off off off
29/09/2012 03 02 hané Carban Dia Stop Run ‘Stop _ Stop 0.5 0.28 0.28 0.3 0.3 0.28. 0.25 0.08° 0.03 0.15 0 132 -0.03; o] 0.08 0.03] 0 o;0ff _Off off off
29/09/2012° 0.2 0.1; Methane Carbon Dig Stop Run Stop Stop 0.28 0.28 0.28 028 0.28 0.28 025 0.08° 0.05 02 0.03 114 0,03 o 0.03. 0.03; 0 0 Off off off off
29/09/2012 03 0.1 hane Carbon Dio Stop Run Stap Stop 0.28 0.28 0.28 028 0.28 028 0.28 0.05 0.05 0.18 0 162 -0.03 o o 0.03 0 0,0ff ‘off off off
29/09/2012 03 0.1 hane Carbon Dio Stop Run Stop Stop 0.28 0.25 0.28 028 0.28 03 0.28 0.08 0.03 0.13 -0.03 058 -0.03. 0. 003 0.03. 0.03 0.03 Off .Off off {Off
29/09/2012 0.3 0.1 hane Carbon Do Stop Run Stop Stop 0.28 0.28 0.28 0.28 0.28 0.28, 0.28 0.05 0.03 01 0 14, 0 0 0.1 o 0 0/ Off [off off \Off
29/09/2012 0.3 0.1 Methane Carbon Dia Stop Stop Stop Stop 0.25 0.28 0.28 0.28 0.28 0.28] 0.28 0.08 0.05 01 0 0.86 0 0.03 0.13 0.03 0 0.03;Off {Off off (off
| 29/09/2012 0.3 0.1. Methane Carbon Dio Stop Stop Stop Stop 0.25! 0.28 0.25 0.28 0.28 0.28] 0.28 0.05 0.03 01 079 0 0.03 0.13 0 0 0.03;Off off off |Off
| 29/09/2012 0.3 0.1: Methane Carbon Dic Stop Stop |stop Stop 0.28 0.25 03 0.28 0.28 028 0.28 0.05 0.03 0.13 069 -0.03 0.03 0.18 0 0 0.Off off off off
29/09/2012 03 0.1, _Methane Carbon Dio Stop Stop Stop Stop 0.28 0.25 0.28 0.28 028 0.28; 0.28 0.03 0.03 0.1 061 -0.03 0.05 0.15 0 0 0 Off off off off
29/09/2012 03 0.1; _Methane Carbon Dig Stop Stop Stop Stop 0.28 0.28 0.28 0.28 0.25 0.28 0.28 0.03 0.03 0.1 0.53: o 0.1 0.15 0.03 [ 0_Off off off off
~30/09/2012 03 0.1, _Methane Carbon Dic Stop Stop Stop Stop 03 0.28 0.28 0.28! 0.28: 0.28 0.28 0 0.05 0.1 056 -0.03 0.13 0.15 0 0.03 0 off off off off
.30/09/2012 03 0.1, _Methane Carbon Dic Stop Stop Stop Stop 0.3 03 0.28 0.28 0.28, 0.25 0.28 0.03 0.05 0.1 0.48 -0.03 0.18 0.15 0 0.03 0:0ff off off off
30/09/2012 03 0.1, Methane Carbon Dic Stop Stop Stop Stop 0.28 03 0.28 0.28: 0.28; 0.28 0.28 0 0.03 01 048, 0 0.25 0.18 [ 0.03 0 Off Off “off off
30/09/2012 03 0.1; Methane Carbon Die Stop Stop Stop Stop 0.28 0.28 0.28 028 0.28 0.28 0.28 -0.03 0.03 01 053: o 0.25 0.13 0.03 0.03 0,0ff off off Off
30/09/2012 03 0.1 Methane Carbon Dig Stop Stop Stop Stop 0.28 0.28 0.28 0.28: 0.28: 0.28 0.28 [ 0.03 0.08 051 -0.03 0.23 013 0.03 0.03 0 Off off ‘Off off
30/03/2012 03 0.1 hane Carban Dio Stop Stop Stop Stop 0.28 03, 0.28 03 0.28 0.28 03 -0.03 0.03 0.1 ) 066 -0.03 0.28 0.1 o 0.03 0:Off off ‘off off
30/09/2012 _06:00: 03 0.2, Methane Carbon Dig Stop Stop :Stop Stop 0.28 028 03 0.28 025 0.28 03 -0.03 0.03 0.1 o 0.69 -0.03 03 01 0.03 0.03 0joff off off off
30/09/2012 _ 07:00:00 03 0.2 Methane Carbon Dig Stop Stop Stop Stop 0.28 0.28) 0.28 03 03 0.28 0.3 0 0.03 0.1 0.03 0.84 -0.03 03 01 0 .03 0 Off off off [Off




